TO DETERMINE THE MOLARITY OF A SOLUTION OF SODIUM HYDROXIDE

YEAR 12 PRACTICAL 1

Typical titre readings:
	
	Rough
	1
	2
	3
	4

	Initial reading
	1.15
	1.20
	1.00
	1.10
	2.35

	Final reading
	30.15
	28.70
	28.00
	27.70
	29.05

	Titre (cm3)
	29.00
	27.50
	27.00
	26.60
	26.70


Titres 2 and 4 are concordant.

1)
Average titre = (26.60 + 26.70)/2 = 26.65

Overall equation.

NaOH  +    HCl   

NaCl   +   H2O

Information

· Concentration of HCl = 1.0 mol dm-3 
· Volume of HCl = 26.65 cm3
· Volume of NaOH = 25 cm3
Calculation

Moles of  HCl
 = c x v
where c= concentration and v= volume in dm3.




= 0.1 x 26.65 (titre value)/1000




=2.665 x 10-3 moles

Mole Ratio
NaOH
:  HCl

= 

1    :    1

So moles of NaOH = 2.665 x 10-3 moles

Conc. of  NaOH

= n / v

=2.665 x 10 –3/ (25 / 1000))




= 0.107 mol dm-3
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